FgArea: [0 ]
NC11 P3-8
2025-04-15 (Day 17)




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I I I I I
3500 —>— EcFzExp :
3000 | ¢ ECdef :
—>— water_ec | f

2500 -
2000

1500 |

xmo?x !

1

1000 I

1

Warning: col [ EcFgro’, 'EcPltng'] is missing

500

25 5

2 % 2 0 X 2 X X 2

0 75 100 125 150 175



Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data

0. 04 -

0.02

0. 00 -

-0. 02 ~

—0. 04 ~

—o— dFVI
dFVo

day

12

14

16

2400

2300 -

2200

2100 -

2000

1900 ~

1800

B — — Y — — K~ — — -8

-»%- fz stock_ec

e ling: col ['ECC’] is missing
36 0

2 4

day

12

14

16

6.6 7

6.4

6.2

6.0

5.8

9.6 7

—>—  PHB*10%

Warning: col ['PHC ] is missing

day

12

14

16

800 -

600 -

400 ~

200

—&— DUC

day

12

14

16

500 ~

400 ~

300 ~

200 -

100

—&— FRV

day

12

14

16

0. 64

0. 62

0. 60 -

0. 58 -

0. 56

—o

—&— FRC

day

12

14

16




175

"LAI’, 'optEtRate’]

"optETcl’ ],

150

125

['ETel’,

['T", "Topt’], ['RH', 'RHopt'],

"lopt’ ],

100

75

50

Plot [['I",

25

t_ i o o _I I_ o
o a o [3) < £
- . 2 -k 3 5
EE S 3
|| \ || m; | iy 5 w
13 o) 13 _ o) 0
= \ = =0 = =
x N |
\\V v -
/
= 2 2 2 2 2 i
\ P” 1 1 1 1 1
—_
I —]
AV -
Av
Av
J— ) Te) Te] Te) p Te) \ Te)
o o o o o
Y il ww / =
)
— \
<
<
— g g g - g yt g
— © -] © -] \\.\q © —
o o o ﬂw o @ —
< <
J
— MV
— AV
3 \ | 3 3 = \ 3 // 3
‘/ \\
o) < T} W o) T2} o gl
N I I\ f Y I\
S \ V =
||||||||| Y Y iy I S Y P SV I -|||||mﬂqnn:||:|!i NS I SR O SRR U NI P | R A SN SN
Z
Nv hv
W ——— —
f— o N’ o o o o =
o o o o o o o 7o) o ) o o o o o o o o o o o o ) o Ty o 0 < o~ o © © <
) S ] S hre} S ) I\ Y - - = o rs) 5 S S S S S . . .



250

200

150

100

50

Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

setVI_ETcl
setVIl_fgRec
slSetVI




Trend plot forP3-8 0

minFVI
minFVO

Warning: col ['minFVlraw , 'minFVOraw’ ] is missing

N
o
I

—@— ETcA
1. 04 A

1.02 A

1.00—'—.—.—.—.+.—.—.—.—H—.+.—.++—.—.+.—.—.—.—H—.—.—.—.+.—.—.—.—1

0. 98 -

0. 96 Warning: col [ ETcAlraw’, "ETcA1", "ETcA2raw’, 'ETcA2'] is missing

0.0 0.2 0.4 0.6 0.8 1.
10 1 1 1 1

0.8 -

0.6 1

0.4 -

0.2 ~
Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

2200 -

2000 -

1800 ~

1600 ~

1400

Warning: col ['ECC’, '"ECI', "ECO'] is missing
—@— ECopt

1200 p

—@— PHopt

(2]
~
1

Warning: col ['PHC’, 'PHI', 'PHO'] is missing

31.5 —@— WCperM
31.0

30. 5

30.0 -'—.—.—H—.—H—.+.—.—.—.—.—.—.—+—H—.—H—.—.—.—.—.—.—.—.—.—.—H—.—|

29.5 -

29. 0 ~
Warning: col [ WCperMraw', 'WCperMavg'] is missing

28.5 -

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

o

D

o
I

NI—0—0—0—0—0—0—0—00—0—000090 00000000000 00090001 o ..
1
1
28 1 I
1
1
1
i 1
26 |
24 -

22 -

20 —o0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—

adjFVOR

-0. 02 ~

0. 04 1 Warning: col [ adjFVIRraw , "adjFVIR', "adjFVORraw ] is missing

0. 56 1 Warning: col ["FRA"] is missing

250 1 o postFgEtraw
295 1 —®— postFgEtavg

—@— postFgEt
200

175

150

125 -

100

75 1

50 -




- 100

- 60
- 40

&
Tt
&\

FgDai ly

—_ o = o = o



P3-8_0

¥

- oy N [ H (S [=2]

: o o o o o o

o o o o o o o
m
—
o

/\
S /0
N

TTTTT
EEEEE




ETcP ETcldef ETcl

ETclis ETcPT

ETol ESo

ETbai

T PPFD | pVPD pR

RH

1.00

0.75

0.50

-0.25

-0.00

--0.25

-0.50

-0.75

1 1
ETbai pR pVPD |

RH

1 1 1 | | |
ETcl ETcldef ETcP ETcPT ETclis ESo ETol



ETol

600 | ° 1 ° 1 ° | °
e o [ X [} [} [ X}

5001 i ° Ce e e ° i ° e o | - ¢
S 400 - E ® 0 0 ¢ %0 0 |09 7 * ©,
= ° ° ° °

™ ™ ° °
300 : . . :
° [ I ) o G ()] Y [ ] [ )
° by ™ ° ° ° ° ° ° °
200 - {e® 4 o i ° le
° ° ° °
° ° ™ °
100 B - T T T T B T T T B T T T T - T T T T
1600 + B - [ ] —4H e E ®
° ™ )
° ° °
1400 - . . o * 1 o . e
.o ° o % ° e %o o
1200 - - o - ® . ®
o° . . LL I ® ¢
i ° i ° 4 o °
1000 ° . . ° ° . ° .
° ° ° °
800 - . . :
° ° ° °
600 4 @ ° ] % ] c Te ®
T T T T T T T T T T T T T T
™ ™ ™
22 : :
° ™ )
™ ° e
% % ® g ° ® o0 °
20 - °® 4 ° ° 4 ° ™
™ ° °
° ° °
18 1 1
° ° °
Ll - - - )
16 ° . ° % ® o
% ® H
14 : 1
° ° °
° ° °
™ ° °
o] | e i °
10 ) . ° . °
T T T T T T T T T T T
®e ®, °®
70 1 1
° ° ® ® ® ° ® °
65 1 ) ] ) ] °
60 ° ° °
. O. ° ..' e ® [ ]
o 55 o i o i [ ]
° ° °
501 ° ) 1 ® ) 1 e )
45 e e 1 % 1 ® . S
D ° ® ° ®
? ° d ° * o
40 + ° 1 ° 1 °
T T T T T T T T T T T
350 A ° .3 & E ° ‘..‘ [ ] |
325 oo o ) 1 ° ° 1 o e o iy
o % ® o0 o ° o0 ° ° e o *
300 - [ ] — [ - [ E [
® ® o o e ° Y ®
— 2751 ° | ° | ° | ° |
050 1 ® | e i ° i ° 1
2925 [ ] . (] - [ ] - [ ) 4
° ° ° °
2004 ®oeo {e ® . ° ® . ° ° :
T T T T T T T T T T T T T T
200 400 600 750 1000 1250 1500 10 15 20 40 50 60 70 200 250 300 350

ETcl ETol T RH |



hour

100

20
15
80
10
:05 - 60
:10
110 - 40
:10
20
:15
:35
I I I I I I I -0
& & & B & % S
é§¥ & %ﬁ» & & 4? %;5 %gr



P3-8

BfiE) | EBEETIC (FD) | EB=E (BAH/HK) | XK R

07:20 109 70.0 & FiHA@07:20 (KRHE{ERESE)
08:15 109 70.0 5 FinHBe08: 15 (RF{ERLEE)
09:10 109 70.0 & FHAe09: 10 (KREAFEREZ)
10:05 109 70.0 5 FiH#e10:05 (KRFEREE)
11:10 109 70.0 & FnHge11:10 (REERKEE)
12:10 109 70.0 & FfRe12:10 (REEREZE
13:10 109 70.0 & FiHAe13:10 (KL RLEE
14:15 109 70.0 & fnHpe14:15 (REERKSE)
15:35 109 70.0 & FnHfe15:35 (REERSS)
21| 981.0 (9%) 630.0 3 WHKEC: 2000.0, PH: 6.5

REX 1 B AR ECHIE R Kk
RER B HEREC/PHELERK, WRER

MEARBR TR




FRV (ml plant-1)

ET (ml/hr/plant)

P3-8_0, Day=17 (2025-04-15)

VI, Vo, #%/, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET 498
- 400

- 200
11

0.2
00 I 00 00

TargetEC=2300. 0, | TargetSetEC=2000. 0

TargetPH=6. 5, TargetSetPH=6.5

0.2~

0.0
200 A

=
o]
o
o

cumET (ml/plant)

150 4 ByWoFv @D17 02:48: ET=498 [Fg=630. 0 Ro=60.0 —9o—o—o—»°

T
(=23
o
o

100 A

] ——f——
T
S
(=}
o

l
:
?
t
t

50

|

1.0 L

0.8 4 8 g g i i g g i i g B A B B B A B B B A B B B A

0.6 1

0.4+

0.2~

800 +
600 -

400 -

200 ~

0 \ A A Warhing:A:oI [Al o

, 'PPFD_obs’] is missing

A A A A

20 -

15

~col ['T obs' _To obs'] is missing

10
80 -

60 -

40 A
"RHo_obs’] is missi

—— RH Warning: col ['RH obs’,

0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)



hour

100

7:45
8:45 80

10:00
- 60

11:10
- 40

12:15
13:15 20

14:30
1 1 1 1 _0

% <$’ % &




P3-8

BfiE) | BRI (FD) | EE (EH/AR) | XK R

07:45 90 70.0 BA| {Ri%@07:45 Fz (RAEEE)
08:45 90 70.0 FA| 1BRi%@08:45 F ) (KAFEREE)
10:00 90 70.0 FA| 1BRi%@10:00 F3h (KRAEREE)
11:10 90 70.0 FA| {Ri&@11:10 Fz CGRAEREE)
12:15 90 70.0 FH 1BRige12:15 Fzh (GRAERESE)
13:15 90 70.0 PH| {Ri%e13:15 Fri (RAERESE)
14:30 90 70.0 (2 =| 1RiB@14:30 Fzh (REAEEE)
=3t| 630.0 (7% 490. 0 3EGHKEC: 2000.0, PH: 6.5

LRGERRET € (90) SR (109. 0)
ZRINKPRIEBRLS8. 0 ml.
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large discrepency for begining water status (217:30.0), set to 179.0 ml.
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large discrepency for begining water status (192:78.0), set to 170.0 ml.
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